BHE FXBBE()

IL-
N+ EFEFEREMEE ZFH##— A28 5 E
ez | I

(FFHEETHERE)

EXHEE )

= 1% A

ek P

[ B F 18]

1 AFEH 408 - BB 255 » 210053 -

2. AREIRE—RER  B8EH (A) > B)(C)~ (D)
305 FFEE —AREENEE ) ARBREZEFLR—E
STV BRI SIREEER - A 2B sn B R E0ERE - THAES
5 ZRETERD  FEEZBLUTNET -

3. BRABUEETERIRER @ URIBENERRLE

4. AABMZARLEHE @ AIMERER -

5. A BE REZSRREC HIBAE LB CRAEERENR
W Bxis TEEF - THE) O -

6. PR AT B IE N 2 AR

57 1 f H 8Tl



BHE BXRE()

v,

1. ’iq%‘ll(“ VER V%ﬁlﬂgﬁf?{{' ] 2o ; Vo —9
[
R R, R
(A) -2+t
Rl RZ R3
R R, R
C) 2(1l+%++*
© Qs Rt e
L
)
v, (S)
2. TN )ETR. I RIREGE BT A FIEE:EI?I
i%l( ) TR REGET BTR A AS F [Vl(S)
s-1/CR s+1/CR
(A) (B)
s+1/CR s—-1/CR
3. 2 %_J s EH‘II( )F)}—] I/FE:D&E IF;EFE?E%Q

(A) lz‘iﬂ(low pass) TR0 &y
(C) Jijpj(band-pass) i iy

4, qugﬂl( Y s %,

(D)

R

B) - 2(1+ 2+ )

Rl
& (1 + & + &)
Rl R4 R4

R, R,

ggo

b om b

1 s
— (D)
s+1/CR, s+1/CR

(©)

(B) ] (high-pass) Vet
(D) = 3fj(all-pass) Vi 5

v, =100sin(120t)V > R =100kQ » C =104F » D HLEHEL" Fijd -

E‘H?{i@(”PP'e)%’g{V*J L 2
5 5 5
(A) §V (B) EV © gnv (D) gnv
AN—— o
D + 20kQ +
—P— t O +
v, C =< R Vo Vi v v Vo
o - B 10k9§ 0k
(=) H‘%ﬁ'([
5. TRIRI(P)FF VR AGIRTREED - F v, =4V [y, =?
(A) 3V (B) 4V (C) 5V (D) 6V
6. [fl3Y 5 | v, =-11V > {[Jv, =?
(A) -4V (B) -5V (C) -7V (D) -16V
H 8 FI 57 2 I



BHE FXBBE()

7. riqggll(* YA I/Fhf E[HI’ ’;?ﬂgu/}@tn 100 > F%FE#?E"E;AE}EJJ{”N%|_O7V Hl 1y, =72

(A) 0.013mA (B) 0.026mA (C) 0.039mA (D) 0.052mA
8. [ﬁj%‘f 7 %_T ’ IC2 =7
(A) 1.75mA (B) 2.75mA (C) 3.75mA (D) 4.75mA
+15V +9V

A

2kQ

e )

S ORCOT SR B A 200 BRI Vee =07V - B
AL ] ﬁﬁwﬁ*&@ﬁ R, =
(A) 30. 3kQ (B) 40.3kQ (C) 50.3kQ (D) 60.3k Q

10. [Fl5Y 9 & —°=?

S

V
(A) 0.727 (B) 0.827 (C) 0.927 (D)1.027 &P
L1 7 I )7 ST MOSFET e (= (Sl A i i
(A) Q,~ &= ﬁiyﬁ'(triode)ﬁa ~ Q, T [EHNEWF I(saturation) B
(&Qﬁ@ﬁﬁﬁ%?@ﬁ@ I > Q,
(C) @, *Q, ﬁj I’l'ijf{‘\@ﬁjﬂlgﬁ
(D) Q= &AM ~ Q, 7 [HH: = i
VO
L Q& n
v, =
L 1
)

12. [f55 11 B ¥ QSRR R T HIEIW, 2 L, Qq IERRLIE WA ST W,
L, > P& 5 ;;/;»%tl‘gtﬁviﬁafpsz_o:?

- M — W2/L1 — W1/L2 _ W2/|-2
) W, /L, B) VW, /L, (©) VW, /L, ©) VW, /L,

913 [ # 8 F



BHE BXRBEA(

13.

(A) 0.7V
14,

(A) -10V

+10V

-10V

AT
15. rﬂ’faﬂ( L)F VR
o —0.7

*) R(1+1/[3) ®)

(A) 7

g%’»f»

(©) Fﬂ?f Vg~ i Wf’lfl

[ﬁjﬁf 13 %_T’ Vey =7

—)

FEICT ) VR

+2V

U=

[[F“f
V. -0.7
R(1+ 21 B)

)
17. &

5 R
(A) 10°Hz

(B) 10°Hz
18. [f'(4 — )fr VEREE b e

He 2
(A) T e (B) firid s
H 8Tl

1+s /104 M

(B) 5v

(B) -7.35V

(B)

(1)
MBI 9Vee =07V 0 11, =2

(©)

VCC
R(1+1/B ) ©)
16. [ﬁ'H S G SR L (i) 2
ST f‘ﬂ’ffifi .

(C) 1.592 kHz

(C) FissH s

57 4 1

FF#?BFUB =% %ﬁ#l%g}ﬁﬁlﬁﬁgvﬁ =07V |/ vg =7?

() 12v (D) 0.7V
(C) -6.35V (D) -5.35V
VCC
|
R |
Lo
Ql ’—K Qz

.07 -0.7
R(1+2/B?%)
PRV~ IR
(D) FFiVAR ‘ﬁ"'?ﬁf’lf[
O
_|_
- Yo
) i
g
e )

17 &7 -1 fr(gain-bandwidth) e A L5 7 2

(D) 159.2 kHz

(D) WL



19.

20.

21.

22.

23.

24,

25.

26.

’i‘ﬁ%{l(‘{ - )F)-’r—] [/ F“f EIH[ 'S tﬂfﬁ@igfﬁ/é?
(B) =k (C) &xakid (D) ¥
R TR B Jé&}ﬂl%’ﬁ{ﬁ 10V - [y, PUEi R e 2
R*R () 2remB ¥R (p) pemit R
R, R, ]

(A) = ¥

[Fl57 19 '7,:“6'}
2R, +R,

(A) 2RClIn

(B) RClIn

BHE FXBBE()

A @y 11360 P2 220

e =)
201 30
<P NN—2a
10A<T> 4Q i1¢ 6Q
J¢)
WCl ) O 1)
CEIE = )E VR S V=2
(A) 12V (B) 6V (C) 8V (D) 4V
P PO R o ab PORRESAERT SIS B B EE T 7
(A) 20V (B) 30V (C) 40V (D) 50V
[15Y 22 1 > 51 ab PRiTEED A et ST £
(A) 30 (B) 8Q (C)4Q) (D) 6Q
FECE TR VERERH > B i S 124 R FRR T R TR B 2
(A) 1240W (B) 2560W (C) 3840W (D) 5200W
[FQEFLE%“[ ] 4mA pJFjbﬂ’F L %0 17> &7 'E&i;@’rg‘v 15V » IF*QE e
(A) 80 1 F (B) 300 1 F (C) 400 1 F (D) 125 uF
)T b T 0 V|~ EEARIE e =0 R RITHH > V() (>0)EL 2
(A) 6.0 Vv (B) 2.0e™ Vv (C) 1.5 v (D) 1.5V
12Q _
t=0
AN g
a(®) 202Z 0] 80 [ Lp S2kQ ZekQ (DIMA
TICED )

95 5 [l H 8Tl



27.

28.

29.

30.

31.

32.

33.

34.

35.

BHE BXRE()

aqﬁl(ﬂ =)V RLC fIVfEs 1 =1 41i(0)=1A ~ V(0)=2V ~ R=3Q + L=1H » C=05F -
i) (1>0)E% fit 2
(A) —4e'+3e™ A (B)-3e™'+4et A (C)4e™+3e" A (D) -3e'+4e A
L R

_fYYY\/\/\/\/

I(t) cTV

SRS

“ RC ﬁ %?[*J’T L SRS cos(t) » ¥ R T . TR eI 60° -

FIl C it

(A) 0.5/R (B) 1R ©) 3R (D) 2IR

57 28 - Fry C=3F » % T HVAS R C fif S Ul S V3 /Y2 - IR 1%

[T

(A)1/V2 Q (B)v2/3Q (C)V312Q (D)V3/42 Q

E'{»%@F{T—»J—{V S AN B 240V 0 g1EL TSR PNEEL 0.8 T I&EJJ? ; F@,’?Fffl%)?]wll? 8KW I/ % 3527
> FITEIE D b 2

(A) 5.76 2 53°() (B)5.76 ~ 37°() (C)7.2,53°Q (D) 7.2.37°Q
T qgﬂlﬁ )R ;I/”F:E'éi.j [S” FiFr{iRe 5 7 =1 10k £ ]F ?
(A) 8W (B) 12W (C) 4w (D) 16W
5‘531 R Q‘fo 3ﬁﬁﬁiﬁ‘?tl' 2 S B | [H

(A) 2W (B) 6W (C) 4w (D) 12W

2Q

aAA

4cos(6t) V (_) é F_- (T) 2sin(6t) A
B )

S BRI E T SR ARRE S ‘EI’FF'F:F_TJE{ VAL BT 1KV 0 3R sk £ 600KW - ik
PUBTEE 0.6 T8 » 4 # RIS TNGA I = 0.8 T i » SRl (MBS, ALy VRIS )
LR EL 2

(A) 750A (B) 1000A (C) 600A (D) 900A
FIST 33 o AT 20 ATV SEESEIR IR 2
(A) 400kW (B) 525kW (C) 700kW (D) 875kW
ST () =t () - £ plru) SRS H TR F f(t) Tufb i (Laplace transform)t:ulﬁ
(A) = B) — © = ) %
S 2s S S

H 8 I 5T 6 I



BHE FXBBE()

36. - IS T oo » HIPfE2E S onms g 2
(MFIEESE (B SRR (CYpvaL (D) AT
37. 5~ RLC WM » R=1Q ~ L=10H - C=1mF - [k E,J/?g#%ﬁ“}t L 9
(A) 1 rad/sec (B) 1.59 rad/sec (C) 10 rad/sec (D) 100 rad/sec
38. L FHEA[pE IS Z(s)=s+8 0 i T FAL 7 +35+2 R o iy SRRl s =
37 2
(A) et -e™V (B) 2" -e™V (C) 2e' -2V (D) 1-e?'V
39. G- ZRIfEAEVENES giﬂ WrEEn 20 53 B o JIIE R REGSUGTEE Rty U [T e TR (2
(A) 10:1 (B) 20:1 © 1:10 (D) 1:20
40. F =AY B B E AL S b (4+)3) Q - Fﬁ’ﬁ;‘f@i;‘/ ?&LFE(;’T £b 1A E?*] » E a‘ﬁ%’ﬁﬁﬁ Vi ?
(A)5V (B) 7.07 V (C) 8.66 V (D) 17.32V

CIPhapr)

2
—

! H 8 I



BHE BXRE()

H 8 I



